Chapter 20: Verbal Roots (Patterns 2-4)
Name:	____________________
Date:	____________________
Vocabulary
1.	αἴρω		I take up
2.	γινώσκω		I know
3.	γλῶσσα		tongue
4.	ἐγείρω		I raise up
5.	ἐκεῖ		there
6.	λαός		people
7. 	ποιέω		I make
8.	ἀκούω		I hear
9.	συνάγω		I gather together
10. ὅστις		whoever

Grammar
1.	Define the difference between “root” and “stem.”
The root is the most basic form of a word.
The stem is the most basic form of a word in a particular tense.
2.	What are the four parts of a liquid future active verb?
a.	Future Active Tense Stem
b.	Tense Formative (εσ)
c.	Connecting Vowel (ο/ε)
d.	Primary Active Personal Ending
3.	How do you explain the variation between ἔρχομαι (present) and ἐλεύσομαι (future)?
The present and future are formed from different roots.
4.	What are the roots of the following verbs?

	a.
	λύω
	*λυ

	b.
	ἔρχομαι
	*ἐρχ

	c.
	ἐλεύσομαι
	*ἐλευθ

	d.
	ὄψομαι
	*ὀπ

	e.
	ἀποκτείνω
	ἀπό + *κτεν

	f.
	βαπτίζω
	*βαπτιδ

	g.
	γινώσκω
	*γνω



5.	Fill out the Master Verb Chart

	tense
	aug. / redup.
	tense stem
	tense form.
	conn. vowel
	personal endings
	1st sing paradigm

	present act
	
	pres
	
	ο / ε
	prim act.
	λύω

	present mid/pas
	
	pres
	
	ο / ε
	prim. mid/pas
	λύομαι

	future act
	
	fut act
	σ
	ο / ε
	prim act
	λύσω

	liquid fut act
	
	fut act
	εσ
	ο / ε
	prim act
	μενῶ

	future mid
	
	fut act
	σ
	ο / ε
	prim mid/pas
	πορεύσομαι

	liquid fut mid
	
	fut act
	εσ
	ο / ε
	prim mid/pas
	μενοῦμαι




Parsing

	
	
	case
per.
	num.
	gen.
tense
	voice
	mood
	lexical form
	meaning of inflected form

	1.
	ἐλεύσεται
	3
	sg
	fut
	mid
	ind
	ἔρχομαι
	he will come

	2.
	κρινεῖ
	3
	sg
	fut
	act
	ind
	κρίνω
	he will judge

	3.
	ὄψονται
	3
	pl
	fut
	mid
	ind
	ὁράω
	they will see

	4.
	ποιοῦμεν
	1
	pl
	pres
	act
	ind
	ποιέω
	we will make


Extra Credit
[bookmark: _GoBack]1.	What is the “consonantal iota”?
The consonantal iota is a letter in the Greek alphabet ( ι̭ ) which causes difficult changes in tense stems.
2.	Verbs whose present tense stems end in ιζω or αζω have roots that really end in what class of stops?
Dentals
3.	Verbs whose present tense stems end in ασσω have roots that really end in what class of stops?
Velars
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